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Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil ito .draw
diagrams.

Geuellenmssrer Breme UGHsmeas Qsramg).

This question paper contains four parts.

u@sl - 1/ PART - I

(i) Sjemensg eilamméaEns@h eflenLLaflsaab. 12x1=12

(i) Q@erésiul{Herar mremg eflamselld Wsad ghymLw alan uenar
Gap@s®ss GO HLen afla_ufamenbd Csrisg er(pgayb.

(i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. el Qeeanflen e mu@umssbimg erluGurgid ____ wAlenwg).
(=) Cpirdm
(<) dlirdes
(@) Cpiseh sidag afises
(F) s
Magnification of a convex lens is always :
(a) Positive
(b) Negative
(c) Either positive (or) negative

(d) Zero

2. Spssan epg elenanded Col 2 L smellen Henp eraamerfley prenE Geppwd ?
(1) o Aanzay (<) B Slevgay

(8) v feopey (7) ‘P lyrér Hesey

In which of the following reaction, the mass number decreases by four of the
daughter nucleus ?

(a) o decay (b) B riccay

(c) = decay (d) neutron decay

3. fflen fgmbd epeésan Hlenp
(=1) 2 8 (<24) 16 &l (@) 184 () 84

The gram molecular mass of water is :

(a) 2g (b) 16g (c) 18g (d) 8g
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4. BpssamcuDDIET 618 FieussTLILITE 7
(1) SAGLnan (<) Quicnfen
(@) B (/) sanrd
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

(c) Water (d) Aleohol

5. IUPAC Quuii@gdleruy adnaandésns Cersstiu@n Grarmd Bl
Wen@arm (5

(=) = (%)c%uﬂe% jLfleotd

(@) & JAF) g

The secondary suffix used in [UPAC nomenclature of an aldehyde is

(a) -ol-- -(b) . “-oic acid
fc] -al (.d] -one

6. @Emeumnpeiseier Gsuwib Senmaer ClsmeirLg).
(1) 3 ()4 (8) 2 (F) S

The heart of amphibians possess ________ chambers,
(a) 3 (b) 4 (c) 2 (d 5

[ &lgpiys / Turn over
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L

Ayo sppd @& peoLQupfpg.
(=) usmtsemilsD

(<) e GLnarar_Mwreflen e s pion

(@) upsGsired ginam

(7)) el GLrsrarflureler o L ps s6ual
Kreb'’s cycle takes place in

(a) chloroplast

(b) mitochondrial matrix

(c) stomata

(d) inner mitochondrial membrane

Bm weoa fluprreaser sremiu@n GLb

(21) seanr aflflsHeny (=) Qumepenar Lmexf

() everit & () seaurs enQSeflunb

Bipolar neurons are found in :

(&) retina of eye (b) cerebral cortex '

(c) embryo (d) respirato'rjlr épiﬂiel;fum
M N o

AenGafllflen eflenameumed o (Heumaug) 1

(<=1) @evCumiger (%)Q&I’I’Gﬂﬂﬁ.u.tl‘l' -

(8)) ensGami () SAarmAGLravGumiser
Syngamy results in the formation of -
(a) zoospores (b) conidia

(c) =zygote (d) chlamydospores



10. QuTmSES :

11.

(1)
(2)
3)

(4)

sni&Gasmon (i)
srifGanmor
wreSlig Ldlwir
ureGugwir

(1) (1)-Gi), (2)-(v), (3)-(ii), (4)-(i)

(<=5) (1-6V), (2)-(iiE), (3)-(3), (4)-(i)
(@) ()-6), -Gii), (3)-Gv), (4)-(ii)

() (1)-Gv), (2)-0), (3)-(ii), (4)-(iii)
Match the following :

(1)
(2)
(3)
(4)
(a)
(b)
(c)
(d)

5 6829

DfsLILgwrer L

(ii) oFstiugwner gran
(iil) @eeartiyshs yHpICEHML
(i) eulpp UppGpmL

Sarcoma (i) Excessive hunger
Carcinoma (ii) Excessive thirst
Polydipsia (iii) Connective tissue cancer
Polyphagia {iv)] Stomach cancer

(1)-(id), (2)-(iv), (3)-(i), (4)-()
(1)-(v), (2)-(ii), (3)-(), (4)-(i)
(1)-6), (2)-(i), (3)-(v), (4)-(i)
(1)-(iv), (2)-(), (3)-(id), (4)-(iii)

apg Hlapsfulen sryermons 9: 3 : 3 : 1 e paundpg) ?

(=1) Gfige

(@) snindend) GaiEES
9:3:3:1ratioisdueto:

(a)
(c)

Segregation
Independent assortment

(=) GRECE sag50
(") @OREG samaio

(b) Crossing over

(d) Recessiveness

[ Sigsays / Turn over
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12. alim @er sreuraliue eragyib Qardea appen PHLID &ﬁl@ﬁﬁu@ﬁﬁmmﬁ :
(=) Qsmymemr (<) J.W. @pmire@UisT
(@) Qurenmev( ymev (7)) afwGsir aflflav
The te_rm Ethnobotany was coined by :
(a) Khorana (b) J.W. Harshberger
(c) Ronald Ross (d) Hugo de Vries

u@G$l - II / PART - I

@Oy : sremeuCuenid e sllarréa@sée efenwellésa b, eflerm eramr 22 -5
Tx2=14

SLLmuwns e wellsseab.

Note :  Answer any seven questions. Question No. 22 is Compulsory.
13. fleaiod — UTUNISGEED. ST CUMSHET WITEn6 ?

Define inertia. Give its classification.

14. euremb gen e Fiponss Caraméng ?

Why does the sky appear blue in colour ?

15. gm sCanfl — auequmssab.

Define one Calorie.

16. s Grr eiifullen Lweaurpaeiid gGagid @remgmens sgys,

Mention any two applications of Avogadro’s Law,



17.

18.

19.

20.

21,

22,
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SL@LIfle STEmiIL@ g Gaitef SaaEioOLsoHa SIS,

List out the parasitic adaptations in leech,

@ETLIL) UINGISIUILITE eveuffhis o-pafd oL wraey 7

What are the structures involved in the profection of brain ?

Qsr@ssuul Beren uLgdla A, B, C whmbd D géu ursEisaneT DG L (LITETLD

sramaib.

Identify the parts A, B, C and D in the given figure.

wryl GQurdlliud — auamupiEseyb.

Define genetic engineering.

aulbleny (3 (SPRITE) eremmma) eremen ?

What is Sprite ?

2 8.8 Henpaiipayeius gy sPuds’ Qurmanang sgpdsn QeardlaGurg
Bl Hib Gongs syhpmad semsd (e,

Calculate the amount of energy released when a radioactive substance undergoes
fusion and results in a mass defect of 2 kg.

[ Slgpiys / Turn over



28. (&) wOML greughisaid sreriudib apap auemaswune Bag CpnELYsmear

31.

32.

sHud@s.
() peféCatsensow undasd snyeflsdr wieea ?
(a) Name the three basic tissue systems in a flowering plant.

(b) What are the factors affecting photosynthesis ?

QuessBen Laflsmerts LS.

Enumerate the functions of blood.,

waphit Celluy sewvuysda aaary fossy B vl Lses ofslsss
Gswifleémmar ?

How do rainwater harvesting structures recharge ground water ?

(=4) SGemmenLs, gfGemmen (1 upH Beflit oifleug) sremen 2
(<) SvGenGamibaeT erenmme ereimen ?
(a) What do you understand by the term phenotype and genotype ?

(b) What are allosomes ?

(=1) 0.01 M HNO, senysailen pH AL sTams.

(=) 100 &. Bl 25 &. siss@ymws soTHH GO sorsa sunfasiudpg.
aigen s@rAunmefen Blenp sseissmss snamns.

(a) Calculate the pH of 0.01 M solution of HNO;.

(b) A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate
the mass percentage of solute.

1 B’z 1 TNy OVer



28.

29.

30.

31.

32.
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(=) wegmb pramisaio sraiudb pem aamsure Hrp prELLRNET
GOLEHE.

(=24) pafldGatrdenseniL undég snpaflaar wrenar 7

(a)  Name the three basic fissue systems in a flowering plant.

(b)  What arc the factors affecting photosynthesis ?

@ussen Leflsanan) U iq el (Hé.

Enumerate the functions of blood.

wehi Gelluy e@wiyss aammy fessy Bt vl jms ofslsss
Qeflerpen ?

How do rainwater harvesting structures recharge ground water ?

(1) SGemmeni_i, gGammanL_is uph Hedit Sifleus) ereman ?
(=) CanrGsmbadr erenpne eremen ?
(a) What do you understand by the term phenotype and genotype ?

(b) What are allosomes ?

(<) 0.01 M HNO; sengacilen pH i srens.

(=) 100 4. ffler 25 4. sidsmyews sorss @m safsd sunissiu@dpg.
Sigan aamydunmeficn flann sgelisdanss snams.

(a) Calculate the pH of 0.01 M solution of HNO;.

(b) A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate
the mass percentage of solute,

[ HLiys / Tumn over
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GHY : siwensg cNenndsenéeib aflenLiaflsman. Guenauirer @usefid LD
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UGH - IV / PART - IV

SUED TG LD,
Note : Answer all the questions. Draw diagrams wherever necessary.

33. (=) (i)
(i)

(1ii)

(=) (i)

(ii)

(a) (i)
(ii)

(iii)

®) (i)
(i)

34. (=) (i)
(ii)

(iii)

(=) ()

(ii)

(iii)

(a) (i)
(ii)

(iii)

(b) (i)
' (ii)

(iii)

89 Gleuiu afid) - SUER IS LD.
Bése wppib GGrmALb s o Gonsssammar lasny @aliuGLHOID
IMBQNOTS LILenUGSs UG eug aen ?
PO el e @ ereuaunm e asngentisener LngaTEADS ?
S|V
Bl Lene eremited ereimen 7
SIEMEE®M 2@ T eenen ? igen @eanfluepwng Lrsksailen
G ur@samar sfleuflésayb,
State Joule’s Law of Heating.
An alloy of nickel and chromium is used as the heating element.
Why ? )
How does a fuse wire protect electrical appliances ?
OR

What is a longitudinal wave ? '
What is a nuclear reactor ? Explain its essential parts with their

functions.

DNEMISGEL_([ eremr — SUTWMISSEaD. y
H,S0, -6 o arer seuile erg,sﬁg @muﬁ!msms Ereins.
FFTLD a-_,r_fﬂ@a;m (Esrrmma;@s@-,m LD 2 ) :@5#]5 .!I:Gmiju.;m G&mma@&@m
Be Cuuwiren Geumun(D&saT Wreneu ?

2{60605)
BaT wppid et eflenensamer CoupiLiBEs1s.
plflenawrsse eflean crempne erear ? aTRSIISET_H SHHS.
ugauflens Gemoiisaflar gCaeb ppeny LGTLSMETES g mis.
Define : Atomicity.

Calculate the percentage of sulphur in H,SO,.
In what way hygroscopic substances differ from deliquescent substances.

OR
Differentiate reversible and irreversible reaction.
What is neutralization reaction ? Give an example.
Give any three characteristics of homologous series.

3r7=21



35. (=)

(i)
(i)

(i)

(<) (i)

(a)

(b)

(i)

(i)

(iii)

(1)

(1ii)

(i)
(i)
{iii]

29
) 68

sésraflle smeypns saflews sien® b apriGumer 68l ?
@SITL®D anriGuorer e <y @Epenn apmirGiomen Grer Sl P&EE-
U@ Slerng ?
emori&dler uflemmos Cam_ur@smar eflarsss.

3160608 |
eT5% QB 1g.eren.er. -anau @D L @I_Irélﬁﬂ'ﬂ@') Qeu s LweTu@EpS! ?
@@flen OCarr Syflab Csdps @ran® wésTECeTET saoLiyuifl
aumssailer Auiueny eT(HSIS.

Hena 19y Sgallen oy155)S6T OHDILD qm&uﬁ]mwuﬁlw ﬁu.l eﬂmmmasm L-I.TDHSI

G elars@s. .

Which hormone mduccs pa:the.nocarpy in tomatoes ?
Why is thyroid hormone referred as ‘pcrsona.hty hormane ?
Explain Lamarck’s theories of evolution.

Which enzyme cuts DNA at specific sites ?

Name two maize hybnds rlch in amino- aad lysme

Explazn smokmg haza.rds and the harmful effects of tobacco.
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